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SER O RRIRRIERAE
HR3—2 BEMITHERT HEBESNHEHEICBT HEE/1) RAEEE B RISESE
T ERRRORE | Emae T52ANOT58 1 ERE2 | AIHC [ male | 0 T Bl [ B 7 ik
. SERED TR RET ST AIERHER
Al TREDBBOEILADKES rTaFOHBESELHDOKRES TREDBBOEILADKES TREDHBESSLHDKRES
= = UE D\ 7 YE A\ T | = = TE AN = TR AN = [ =
1 100kN/m#E#BZ % — -~ — —|3mEEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ - — —
Th s 1.00| 0.00 ~ 6.28 7897 | #hilst | 000 ~ 0.00 | 1.68 8.51 Th s 1.00| 500 ~ 740 7897 | =St | 500 ~ 7.40| 1.68 8.51
9 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ - — —
Th s 1.00| 000 ~ 6.83 86.36 | #h L4t | 000 ~ 6.83 | 1.81 9.13 Th s 1.00| 500 ~ 840 86.36 | =n U4t | 5,00 ~ 840 | 1.81 9.13
3 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ - — —
Th s 1.00 | 0.00 ~ 4.77 5941 | Zhilst | 000 ~ 0.00 | 1.76 8.88 zhs 1.00| 500 ~ 5.00 5941 | Zh 4t | 500 ~ 500 | 1.76 8.88
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ - — —
Th s 1.00| 0.00 ~ 423 5293 | #h st | 000 ~ 423 | 2.01 10.15 Th s 1.00| 500 ~ 5.00 5293 | #h st | 5,00 ~ 500 | 2.01 10.15
5 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ - — —
Th s 1.00| 0.00 ~ 5.63 7031 | #hllst | 000 ~ 5.63| 1.90 9.63 zhs 1.00| 500 ~ 6.60 7031 | il | 5.00 ~ 6.60 | 1.90 9.63
6 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ - — —
Th s 1.00| 000 ~ 525 65.40 | #h A4t | 000 ~ 525| 1.95 9.85 Th s 1.00| 500 ~ 6.20 65.40 | Z#h U4t | 500 ~ 6.20 | 1.95 9.85
7 100kN/m%E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ - — —
Th s 1.00 ]| 000 ~ 464 5789 | Z#h L5t | 000 ~ 4.64| 1.86 9.38 Th s 1.00| 500 ~ 5.00 5789 | #h 4t | 500 ~ 500 | 1.86 9.38
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImZHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImzHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/m#E#B 2 % ~ 3ImEHEZD ~ 100kN/m%E#B 2 % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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